# Answer
01 0
02 $245.75
03 2
04 3072
05 36
06 1708
07 13,30,6
08 12
09 104
10 Any value between 1452420 and 1622785
11 14
12 17
13 2159512
14 173
39
15 1
16 0
17 15
18 -20
19 | 30x5432x0430x%- 2 x5
20 1
21 336x° - 60x2 +168x
22 191
23 2 or 7668.8
24 29
25 18
26 1981
27 1,6
28 3354
29 151
30 - 14 52 —49

57 57 114

5 -14 11
57 57 114
-10 -29 35

L 57 57 114




Puzzle 1, Solution

216[4/9(3|8|5|7|1

711(3(2|4|5[9(8|6

519|18|7(1]6[2|3|4

413/1|6|7]|9|8|2|5

915|782 |1|6|4|3

6(8(2[4|5|3[1|9]|7

317|/6|/5(9(2(4|1)|8

1/2|5|3|8[(4(7|6]|9

8/4/9|1|6|7|3|5|2

Puzzle 2, Solution

4 3 115 6 2 5 9 |11 | 7 |14 | 1 (12| 8 |10 | 13 | 16
7 5116 | 1 (10| 4 |12 |13 | 8 |15 | 9 |11 | 2 6 3 | 14
10 | 8 2 |14 |15 | 3 1 |16 ]| 5 6 |13 | 4 7 |11 (12| 9
13| 9 |11 |12 | 6 7 8 |14 | 3 2 |10 | 16 | 4 5 115 | 1
16 | 7 |14 (15| 5 [ 13| 2 |12 | 9 8 3 1 (10| 4 |11 | 6
9 |12 | 8 5114 |16 | 6 | 15| 2 4 |11 10| 3 7 1 | 13
6 2 3 4 8 1 |11 |10 |14 |16 | 7 |13 |15 |12 | 9 5
1 (13|10 |11 | 7 9 4 3 12| 5 |15 6 |14 | 2 |16 | 8
14 | 6 9 |10 |12 | 11| 3 5 4 |13 | 8 2 1 |16 | 7 | 15
8 |15 |12 | 2 4 110 |14 | 9 1 7 |16 | 5 |13 | 3 6 | 11
11 | 1 4 7 |16 | 6 |13 | 8 | 15|10 | 12 | 3 9 |14 | 5 2
3 116 | 5 |13 | 1 |15 | 7 2 |11 | 9 6 |14 |12 | 8 |10 | 4
15| 4 (13| 9 |11 | 8 5 6 |10 | 12| 2 7 |16 | 1 |14 | 3
5 10| 1 8 |13 | 2 |16 | 7 6 3 |14 | 9 (11 (15| 4 | 12
12 | 11| 7 3 9 |14 |15 | 4 |16 | 1 5 8 6 |13 | 2 | 10
21114 6 |16 | 3 (12|10 1 |13 |11 | 4 |15 ]| 5 9 8 7




